HANG PANG THUC SO 8 VA VAN DUNG.

DV11- 210 = 10— 2410 +1 =4/(\/1_0—1)2 =[Vi0-1|= V0 -1.
N 2T T2 = (N7 2] =N 2] =T 2

4-23 =\3-1.
A\11+6v2 =3++2.
5)\27-10V2 =5-+/2.
6)7-210 =5 2.
15— 2414 =iz -1.
8)\3-2v2 =2 -1.
O4+243 =43 +1.

1057295 - \/10+24J€ _ \/

11726 =/6 -1.
12414213 =13 -1
13)\/9+45 =5 +2.

16)4/21+ 445 = J20+2 2%\
17)y28 643 = /27 - 2.3V3.1+1 =3B+t
18)/15-104/2 = 5(3-2v2) =5.(v2-1)=10-+5.

19)4/46 —6+/5 = /45— 2.3\5.1+1 =35 1.
20)1/6 — /20 = /6 —24/5 =5 —1.

21)\/8+ /28 =8+ 247 =7 +1.
221244 =12 - 2411 =11 -1.
23)\5-24 =\5-26 =32,
24)J8—+/60 =+/8—2J15 =5 3.
257 +/48 =7+ 43 =3+ 2.
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26)9++/56 =/7+2:72+2 =T +2.
27T +~24 =7+ 26 =6 +1.

6-25 5-1 J10-\2
28)y3—+/5 = = = .

V2 2
2014 +7 = 8+§ﬁ:€§+1:¢1—42+ﬁ_
3o)m=\/10+§\/ﬁ=\/7+2.\/Z.«/§+3=\/7j§\/§:\/1—4;\/g'
31)@:\/12—2*@:\/7‘2@-*/5*5:\/2%@:«/1_4;@
327440 =7+ 252 =B ++2. {s

33)\/7_ 16+2J_ \/_5+1 \/_O+

o [EREE ﬁg,,@
20+2J_J_ +/18

35)4/10++/99 = &E&
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DWx-1-206-2 = f[x-2)-2Jx-2.1+1= [(Vx—2-1) =[Vx—2-1= {;/_\/_zlizz

2)\/x+1+2\/§ :\/x+2\/§+1=4/(\/;+1) :‘«/;+1‘:\/;+1.
Ix—2+29%—3 x5+ 20311 |[Vx=3+1) =[x=3+1-x3+1
ax+2-2x+1 :\/x+1—ZM+1:4/(M—1)2 =W+ = x+1-1.

Jx2-1x22
5)2x—1-2,/2(x 1) =2x-2-2v2x—2 +1= [(v2x—2-1) =|V2x-2-1]- T
| 1—\/2x—2,x<g

B)2/2X +14 242X = 2%+ 22X +1 = (J_ )Z—J_x+1.
7)2x-5-2,[(x-2)(x-3) = /(x~2)- 2)(x-3)+(x-3) '

o e A N o N | |

8)2x L+ 2,(x+2)(x-3) = (x+2) +2\/m (x 3)

= (VX2 53) =R BB

0)y/2x +1-2J(x 1) (x $2) = /x + 2 — Xk

10V 2x-1- 24 —x B2 E1- 2R D) () 2) = X+ 1-Vx-2,

1V 2x +3+ 2% +3x+ 23X+ 2) # 2 )3+ 1)+ (x4 1) =X 2 H L
123 2x+2— 24X +2x—3 = \/x+3 m x—1) = X+ 3-X-1
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